Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK, DB\C - Drawings\TX-4646.49.dwg

POWERED BYIi"l

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD l D R "8 5 1
The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

4. drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details

Slidelte panel details {lip lite insert glozing)
Horizontal cross sections

Verlical cross sections

Vertical cross sections

Frame anchoring

NI OB | W -

112.25" MAX. OVERALL

P b L T

FRAME WIDTH

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT {OUTSWING)

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.658.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS
BY

REVISIONS

11/11/211UPDATE TO 2018 IBC/IRC CODE

(o) (o]

INSWING

+45.0

-45.0

1

L
)
3
=
6

DATE: 11/02/'1

() (o]

OUTSWING

+40.0

-40.0

ScAlE:  N.T.S.

DWG. BY: JK

cHK. BY: LFS

DRAWING NO.:
TX—4649

SHEET 1 oF 7




L
A EXTERIOR 7 i R
] __‘___0.4n :ﬂ‘ 0
04—t = — = 2z 48
it S B z-
¥ Y o x f W ? TR ouogm S
, ' ‘ o NS u “d6
R T S = \§ e K TOP RAIL i’;g %L‘E,}:; ég
T SN O n (COMP.) R I 384 9
ﬂ‘n, RN - L S . - . / X 'é( + \\..,.-_.-. n.: gog gg
\ \ L Taande™ & O« £g
STILE (LVL INTERIOR AL g3z ,°
CAP (PVC) ™ THESST STEELRENFORCEMENT  LATCHSTIE (v CAP(PVC) PSR L £do &y
(1.6"X 0.135) SN | & 502 Bu
' o & @an g
mHORIZONTAL CROSS SECTION A 2 S “’é
A c
-...V T
35.75" MAX. ; RANY
PANEL WIDTH T
FIBERGLASS e 0
> DOOR SKIN L e =
l \"' t‘t:)
. ;Z-. - < QS
/—\ RO v . . = g EN
\ZJ Y ’v' ),.l v Q %0
11 & o
INTERIOR EXTERIOR S S
// o &
2 i ol
T e .
] 4“0
=z V.4 Ly
& SRR S S
% FOAMCORE |l ..o 7 o
= S e a 2
P co T o |2
< X T e o (3
4 : - |0
’ .- - < 4.‘- ) 8 gl
: “4; . ‘..'1 E
AL b
.‘.A . ﬂ . QS.
- ’: H .. S 3
o SE
| =
BOTTOM RA‘L/' 1B TR B 1 | - %
{COMP.) I oaTE: 11/02/16
: scAE  N.T.S.
DOOR PANEL pwe. B:  JK
. Plasfpro . / 2\ VERTICAL CROSS SECTION ok B LFS
Fiberglass w DRAWING NO.:
DOOR SKIN: FIBERGLASS {0.075" MIN. THICKNESS) TX—4649

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

SHEET _2 OF _7_

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LKDBNC - Drawings\TX-4646.49.dwg

© zo16 R.W. BUILDING CONBULTANTS IND.



0.7“ - e and 3.7“ ) ﬁ:‘:‘ . “ '§ g: R
04— = EXTERIOR — [‘ 0.4 e 53 g
—-E t?;‘d Wy E;" § rf:
W o ‘ ! At ] ;8 -
: . o R f e wz on 21
T T ; . ERICEE o A K, 423 e
. . S S 2 SIS c - LTk
S e T e . , : 2,000, §2 B3 %
< SRR T ~U, ] NG NE P , \ * TOP RAIL 3 3 : he) a’gg @é
(COMP) 11\\{1\‘\5\,‘\_ CZ) 9w [oh-44
CAP (PVC]) STEEL REINFORCEMENT ~ LATCH STILE (LVL) ; 3z 287 u.
(1.6"X 0.135) : £ g% %
e IR T
/ 1"\ HORIZONTAL CROSS SECTION = RS 8¢
3 A (S £ E
Y #6X1-1/2" FIBERGLASS A NS gg
] GLASS BITE 1/2" DOOR SKIN A 2
PPH SMS T 8
35.75" MAX. PANEL e
WIDTH L 2LITMAX. INTERIOR | | 1/2' OVERALL GLASS THK. AL
D D.L.O. WIDTH m AR S
‘ SH\t _— 1/8' TEMPERED GLASS RAINI =
-~ S——— L 43
S| IAIR SPACE < =
/\ / = N \\ . 5 > Eh
1 4 ) 1/8" TEMPERED GLASS 2 |z 24
/ o X N\ 2 |3 %=
\3/ Ty I EXTERIOR STEEL SPACER ol
- . 2 g5
#6X 1-1/2" PPH SMS LOWTACK S?:&SEALANT S & 5
INTERIOR EXTERIOR S <
= = o e & <
5 x < W GLAZING DETAIL ” o &
4 (O] sz [/
il i =~ i " .
T T 0O & m
Y O 'c?) = P |
Z = o) -
. S S
2 2 1 8
= = 3 e
& 2 FOAM CORE Mt S v
R g ) - \ ;::‘ ‘ '.4 T f Szj.
N = |2
o = _ 41".. 2. 8 al
. ~°. E 5) IR < a4 . . E h'd
/ —_ o .
p 4, 4" w
/7 . J : 1 S <
: — 2 AR g
3.25" } I . N
(WP)—’x - 1 ! et n olE
",‘ . : .: > [
@ ODL LITE FRAME - BOTIOM RAIL—|[ 57 -2
(COMP.) e £ 757 L DATE: 11/02/16
SIDELITE PANEL ‘—"—__Wfr c’: xg‘ni :f’w N Tj(
Fosioro /"2 "\ VERTICAL CROSS SECTION p——
\SJ DRAWING NO.:
SIDELITE PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS) TX—4649

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

SHEET 3 oF 7

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-851 Plastpro FG Opaque (LK DB\C - Drawings\TX-4646.49.dwg

© 2016 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK DBAC - Drawings\TX-4646.49.dwg

JES e AR Ty 5 R
1/4" MAX S rigi $3 2.
( ) @ " MAX, FowiZi £2 2 8
S S SHIM SPACE EXT SHEATHING |25 i34 g% B 2-
= SIDELITE PANEL JAMB : S Bu g8 &7
b > L %"’ v odB By
e T Rl R
e S, 1O 57 558 o
2 e, 3 S35k 0N
(}\"&'-.‘ izl 7 &-_lg
| igg 3ot > 532 g
~N 3t FiH i & Own- £
N et oxS E
2 Zad, 64
1 2X FRAMING 5§ §.2 .°
@ J / (G>=0.42) g 2 Eé g%l
v #8 X 2.5" COURSE THREAD _/ : X ° .
: DRYWALL SCREW E @§ gg
| (See Note 1) / 8
/3\]le — DEADBOLT: KWIKSET SIGNATURE SERIES | , °
N of o025 SRy
INTERIOR
— LATCH: KWIKSET SIGNATURE SERIES — 0.15"
(991) o] |=— CisINK DRYWALL s 2
(TYP.) #10 X 2.5' PFH 8 _,8
WOOD SCREW £ . ES
2 g Sl
z 32w
1 \ HORIZONTAL CROSS SECTION b L& S8
4 /\ 7] o
b > N H/ CORNER PADS {TYP.) \U Outswing shown - Inswing also approved ) § 9 T&
b 14
Q G
; D YD (4 I
&/ \ AL/ S
0.75‘“‘,“—”"1 -4-—-".5"-——— gg
] a8
\ #8 X 3/4" PFH SMS 4"HINGE DOOR PANEL LATCH STRIKE PLATE 8
\ #8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS gé
i \
SIDELITE PANEL \ /‘ [ #BX2:1/2" PFHWS g g
3 8 2 @
S| Y 3 3
< = Z ol [*
N - _ A
/ ™ L
g
ENDURA WEATHERSTRIP / N =2
#8 X 2.5" COURSE THREAD (QEBD 650) ' N
- DRYWALL SCREW DOOR PANEL SIDELITE PANEL NG
] 125" = : (See Note 1) #8 X 2.5" COURSE THREAD .
DRYWALL SCREW — S
JAMB / HEAD FATBOY MULLION \ isee Note 1 ~[2
PINE PINE “ DATE: 11,/02/16
4-3/8" FATBOY PINE MULLION / o NTS
4-3/8" FATBOY PINE MULLION owe. B:  JK
NOTE: CHK. BY: LFS
1. Spacing for sidelfe screws: 6.5', 35.5' / 2\ HORIZONTAL CROSS SECTION ("3 "\ HORIZONTAL CROSS SECTION GRG0
57.25" and 85" from head to sil (4 total). w Outswing shown - Inswing also approved TX—4649

\U Outswing shown - Inswing also approved

SHEET _4 oF _7

© 2016 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-851 Plastpro FG Opaque (LK DB\C - Drawings\TX-4646.49.dwg

—— 2X FRAMING
T ><_ (G >=0.42)

EXT. SHEATHING \ iy j /— DRYWALL
L— #10 X 2.5" PFH
WOOD SCREW

1/4' MAX. 4] -1

SHIMSPACE — ~—__fillif

0.15"
C'SINK
(TYP.)

-

DOOR PANEL \

\v HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650}

EXTERIOR W INTERIOR

/"1 "\ VERTICAL CROSS SECTION

U Outswing shown inswing
also approved

2X FRAMING
(G >=0.42)

DRYWALL \ :

174" MAX.

SHIMSPACE |-

b

[§)
4
A

. ,k 5
h. »
* 3
5 { B $
"
"
i -
v
L
O e I
reressesitatseRRSEROBTITRINETS

b
S
.

AN Y

%‘U
mﬂ“@ = connens

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

NOTE:
Spacing for sidelite screws:
6" from each end (2 total).

1.

: / EXT. SHEATHING
\ 1Y

.

L— #10 X 2.5" PFH
i ' WOOD SCREW

£

SIDELITE PANEL -\

#8 X 2.5" COURSE THREAD —/

DRYWALL SCREW
{SEENOTE 1)

INTERIOR

0.15"
C'SINK
(TYP.)

/-

ui

\— HEAD

EXTERIOR

m VERTICAL CROSS SECTION

\5/ Inswing shown - Outswing also approved

P.0. Box 230 Valrico FL. 33595

Phone No.: B13.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F~—11852

w
=
]
5
Le)
)
= 0
S oy 0D
a i e
= m
(Y] = O
0| ~d
9 8
£ ol B
O [r
) Ol W
2 =
e %
o o
2
-t
L
[
o)
O
)
&
S o
o (=
o
2 @
(w}
] @
[
2
=
I
a
S
~
AE
i<
s
~lo
z
oate: 11,/02/16
Scate: N, T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4649

sHEeEr 5 oF _/

© 2016 R.W. BUILDING DONSULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK,DB)\C - Drawings\TX-4646.49.dwg

ENDURA
ESISDE*E DOOR SWEEP
AN (DBK-R)

=R
=2

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
w inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEE NOTE 1)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

W ENDURA ENDURA WEATHERSTRIP
DOOR\ DOOR SWEEP
PANEL /(DBK-ZAC)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR 1.
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"3 "\ VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

NOTE:
Spacing for sidelite screws:
§" from each end (2 total).

ing Articulating Threshold
Wlnswmg iculating Threshol SDELTE -

PANEL \

DRYWALL SCREW
(SEE NOTE 1)

EXTERIOR

WA
NTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

w Inswing configuration

1 INSWING ADJUSTABLE THRESHOLD
IAIL4565

} 456" |
2} INSWING ARTICULATING THRESHOLD
LACL4565

! 456" |

1 OUTSWING THRESHOLD
IOBL4565

W Qutswing configuration

{E b

} | 454" | t * | 456" _ !
INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD
2 ZAI4565FN ZAILAA4565 ZAIAA4565FN

b 456" !
INSWING ARTICULATING THRESHOLD (") INSWING ARTICULATING THRESHOLD (") INSWING ARTICULATING THRESHOLD
7 )\ IACas65iN TACLAA4565 TACAAASE5FN

g %
bl 456" | ! 456" |
19 QUISWING THRESHOLD 73 QUISWING THRESHOLD
Z0OB4565FN 10B4565RDS

\6/ Outswing Bump Threshold

] 456 |
5 )} INSWING ADJUSTABLE THRESHOLD

ZAI4565RDS
| MAX. DESIGN PRESSURE = 40 PSF |

! 456" -
10 INSWING ARTICULATING THRESHOLD
IACA565RDS

| MAX. DESIGN PRESSURE = 35 PSF |

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Q<
S 2
Q o
z o 25
o O»l.. ()8
o Wix =6
gS:m Eﬁm
L %5 >0
| 1 o
m [0
Qg &
.- [
5 14
= o
S b
o o
>_
£l

REVISIONS

11/11/21{UPDATE TO 2018 IBC/IRC CODE

1

L
<
(]
S
4
6

paTE: 11/02/1

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4649

SHEET 6 oF 7

© 2016 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-851 Plastpro FG Opaque (LKDB)\C - Drawings\TX-4646.49.dwg

6.45" FROM

TOP OF
DOOR PANEL

S——

32.54" ——mr

84.81"

58.69"

|
)

i
|
Cans

Y

CONCRETE ANCHOR NOTES:

HINGE JAMB

SEE HINGE
DETAIL 1

SEE HINGE
DETAIL 2

FLOOR SUBSTRATE MATERIAL ({TYP.)

edge distance to mortar joints.

. Concrete anchor locations at the corners may be adjusted to maintain the min.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

TAPCON®

DeWALT

|uLTRACON#

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

2X FRAMING (BY OTHERS) !
§ o 2 E Y ;-I
" R
N 2" . ¢ S i
(mp) 5 (TYP.) I N 4
f‘“ (TYP) | ‘ é‘% fuiy
T T P iZ i
’m W, ol
I \ 1 1 ‘:’(\’;g_ A3
- (’3 e {5 """" izt
b 0.: Q\ e
#10 X 2.5" PFH DETAIL 1 DETAIL 1 ! W "‘g‘ 5\;.\&
WOOD SCREW s . X
(TYP. @ HEAD o r . 2
AND JAMBS) o &
il s
o~ H O o
\ =279 W
S o #8X 2-1/2" PFH WS
6 //
e LIl @ <
" Gl - ®~
- o R | #8X1 PFHWSé:, ool == #8 X 3/4" PFH WS
1 4" X 4" HINGE
lm \
5 A seeSTRIE 11 T HINGE DETAIL 1
PLATE DETAIL i
> & m
e W
% - s 1
DETAIL | DETALL | 8¢ |~ #8X21/Z'PFHWS
‘_& / (@] N L
e 19 u ®
| I P 1 | I N I . Lo Lle
e popey — - L #8X1 PFHWSé:._N=t§> #8 X 3/4" PFH WS
4(OP) || l== 0 ryp #10X 2.5" PFH WOOD SCREW | 4 x4 HINGE
¢ (TP 1/47X 2-3/4' DéWALT OR \
ITW CONCRETE SCREW
FRAME ANCHORING
CONCRETE {MIN. 3000 PSl) X0 (TYP @ SILL) STRIKE JAMB HINGE DETAIL 2
WOOD (G >=0.42)
*NOTE: These additional anchors required for D.P. > 40 PSF.
- D
#8 X 2-1/2" COURSE~ SEQ&B;?L%%ECUR”Y
THREAD #10 X 3" PFH WS =]
DRYWALL SCREW
#8X 2-1/2" PFH WS —— ’
LATCH STRIKE
DETAIL 1 — PLATE
Integral mullion attachment
STRIKE PLATE DETAIL

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—11852

o
=
S
g |43
o A =
= B <
] =
AE:
Q=
5 ol -
8 O
‘.—
o Y
& Pou
>
Llm
L
[
o
o
O
&
NR
o =
O
2 @
j=]
N QI
e
I
o
a
D
N
RE
NS
o
b4
oate: 11/02/16
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4649

SHEET _/ OF 7

© 2016 R.W. BUILDING CONSULTANTS INC.



